R FrvITAR 1./24 (&) K& (

ot

1. ROFEROBEMOME 1 oRd K, [45 4]

(1) 50x+23y=1 (2) 25x —61y =12

2. WOFTRXOBEfMREZTCRkD L, [4 58]

(D11x+8y =1 (2 6x-11y =4

<Challenge!!>
RO FTREADFEE M2+~ TRD &,

(1)30x+17y =2 (2)46x—35y =4

<L R >
BD &S KRAR ABCD & RAH FECD AN Y FET,

@D AFREIZZY ET

. 20cm —_
~ B F -»\\ D




=l

3

WD FHREAXDOBELIREZ T TRD X,

1.

=3

(2) 62x—23y

=1

(1) 37x+26y

WD FREAXDOBELIREZ 3T X TRD X,

2.

-13

(2)13x+7y

=1

(1)3x-7y

MEHaE whhN L g

KeHeRoRtwEbump ° (K> ov)

@ s s 5 or LBy b L @ o 3 o DR R o

@.i#ﬁ/\t; omputm Ly & HUnYSwEBY PR

© FBWV A KN w0 © s o R

T oo

© WeR ENUK G0 ® FueMmwL s

® MmN d = T NE IR

e UM N AT D S 2 g AR K

-

35 T2 n : 40z
B O b D o "




aR¥E FIvI/TAE @BE 1/11
1. FTEAEKOBHE (45 4] o e o & o @
(Dx=18, y=-26 % 2 # P P
it M a P o | efl
?’JEE‘?:?HZ?;E Fj
(2) x = 20, y=38 :j _ﬁ s j:)\ 2SI 2 : J;g : ]):
2. FEAEAOEMM [# 5 4] ’
(1)x=8k+3, y=-1k-4 (kx#¥x 7 5 7 7
A H IR EE L I
@) x=11k+8, y=6k+4 (kixEH) Ji13r |5 |777 1| L |4 L
PR HESH PN HENME
e " ; BR - z
I HEIH KNS
<Challenge!! > <HEELWAERE> (£ 5.5)
(Dx=17k+8, y=-30k-14 (k (%% 75°
(2)x=35k+64, y=46k+84 (ki3i&%%)
1) 0x+17y=2 - @ 46x—35y=4 - @

D oBEB%E 1L LFRN30x+17y=1 2o
<, =4, y=—TXZxOBEHDO 1 >Th%.,
EBE 30-4+17-(=7)=1

WA 2 28T C

30-8+17-(—14)=2 - @
D—@ i 30 x—8)+17(y+14)=0
Fhebhh 300x—8)=—17(y+14) - @
30 & 17T IEEVWCETH SN D, 2—8 1L 17 ofF
FThs,

LoT, kEBEHELT, 2—8=1Tk LEEND,
ZhE@ifRALT y+14=-30k

Lizdo T, RODEEHT
2=1Tk+8, y=—30k—14 (k35
30 & 17 ICHEBREOHAEZTI L, ROLD
W5,
30=17-1+13 BHET AL 13=30—-17-1
17=13-1+4 BEYHE 4=17-13-1
13=4.3+1 BET5E 1=13—4-3
Mo 1=13—4-3=13—-(17-13-1)-3
=13-44+17-(=3)
=(30—17-1)-4+17-(-3)
=30-4+17-(~7)
<JHERE >

1. FEABRAOBHMR
Mx=-7, y=10
(2x=-30, y=-81

QO oHuE 1 & LHRKX462—35y=1 (o
T, =16, y=21 3 DEHRD 1 >Th 5,
Ll 46-16—35-21=1

WA 4 AT T

46.64—35-84=4  .ooue- ®
O—@ 25 46(x—64)—35y—84)=0
F7pbt 46(x—64)=35y—84) - ©)

46 & BITHEVIETH DD, x—641135 D
#Th 2,

IoT, REBHRELT, 2—64=35k LEEN
%, Thz @IRALT y—84 =46k
LI=hoT, KedHEHMEIT

x=235k+64, y=46k+84 (kITEK)

B7F) 46 & D HREOHEETI L, KD LD

IZ72 5,

46=35-1+11 #BIETHL 11=46—35-1

35=11-3+2  BESHL 2=35-11-3

11=2-5%1 BESSE 1=11-2.5

Eat  I=Te2:8=11--{5-113 4
=11-16—35-5
=(46—35-1)-16—35-5
~46-16—35-21

2. FEAFERXOBRHM

(Dx=7k+5, y=3k+2 (ki)

2 x=7k+3, y=-13k-6 (kix#E¥%




/

(. épz-239 71 () gbz- 41417 2t fye ¥y s @
0 230K s el TEHA ks 73,99 12Qaffa s FoS
. pootis é- 25
o 23044 4-tw-232 Q@ 6125271 Vhaer2 3=y | @
234813 3.203-49°% @ 28> Q.v*L @-@ 41
T S A L N EET S . A
= 2&-(4]-25-2 )2 :?Lv.;?_;s_;
rzon s A-3l e R |
4 ?wun_.w.b; o A —_— — [lx=3) s - B[4/ Q
2lyk 255 -4z e prefwdres
= 4 - T e
- — g5 423 a-1: 2h @ FEE)
4-4+23-(-1) A jers 2 z
L Qs B TE
S(v-232 ) f w23 -1) RN S A oz 7 &k 23
20 — 60T
byl —n-23 4 23-01) 25 = - @rgiath
—— . . . - ".4
) o PRI vk
R s eV
= d V. woy =i -
by o g~ 23030 | 20, 4 ek
. 7 . A .
1.7 &Q@w ww\ﬁ@fsm‘m.; 20em - ma dR~3 _\m_. 74
g oq--13 " B AL B
x4, {2 30° .
e 15°
75/ | 75°
i ]
B E G

A L EEDTRE AE=20cm T, =M AED Hf
ZHED=ACRDET. BENMRDEISCRD,
B@ =75 ECRDET.

-y Y
=1g @bt
123, Y1 °Q@affe ofc0™s

P T

&n2
2
b-¥-n-Yy .x@.”_

®-@ v

be—ii¥ - Y
-y s Y

hﬂ#lmvlmhﬁdt cw- o
f(r-2) ~1l4y-%4)-®@

VRN $ 0N
z-v 1k @ (R B3 (B2
it
G @r=atA
b tik s 1 (Y-04)
R Yot
Yepa¥

e e

Costrtad
Lo o (WOEER)
L
@ a:-3,4=-2 96..&%..?3%
Lt dat: 35

Cant-3
M;n\rnw Tmlﬁ%&

N






2.

HERE
1. FEABRXOBHMRE
(Dx=-7, y=10
(2)x=-30, y=-81

(1) 37 & 26 12 ABREORBEAITD &, KD LI

%,

37=26-1+11 BUFsL 11=37-26-1

26=11-2+4 BHYsE  4=26—11.2

11=4-2+3 BEIHE 3=11-4.2

4=3-1+1 BiETSE 1=4-3-1

Lot  1=4-3.1=4-(11-4.2)-1
=4-3411-(—1)
=(26—11-2)-3+11-{-1}
=26-3+11-(~7)
=26+34(37-26-1)-{~7)
=37-(~7)+2610

bt 37-(=T)+26-10=1

YT, KOBEH x, yORD 1 i
x=-7, y=10

FEFEXOEHMR
(1) x=7k +5,
@ x=7k+3,

@ 3x—Ty=1 Sl

@
x=5, y=213Q DEEED 1 >Th 3,
AT 3-5-7-2=1 e @
O-@»b  Hx—5-Ty—2)=0
Tibs  Ax—5=Uy—2) 0

BLTHEWCETHSH»b, x—5137 D%
ThH5.
EoT, BEEME LT, 1—5=Tk L REN%.
e @ y—2=3k
LEBoT, ROHBEBIT
x=Tk+5, y=3k+2 (Rki3E
FiE COSEEN1I-LLT, =-2, y=-1
EROTL IV, ZOHE, BHAIR
x=Tk—2, y=3k—1 (BI3%EH
EREND,

bl

y=3k+2 (kT
y=-13k—6 (k3%

2 62 WITHBMEDHERITH &, KOLIK

o
62=23-2+16 BHdHE 16=62-23-2
23=16-1+7 BIELTSHE 7=23-16-1
16=7-242 BHiHE 2=16-7-2
7=2-3+1 BETLE 1=7-2-3
LT 1=7-2-3
=7—(16-7-2):3
=7-74+16:(—3)

=(23—-16-1)-74+16+(~3)
=23-7+16-(—10)
=23-7+(6223-2}-(—10)
=62-(~10)+23-27
=62+ (—10y—23-{—27}
et 62-{ —10}—23-{~27)=1
W3 AHNTT 62-(—30;-23-(~8l)=3
Lo, kDA, yORED 1S
x=-30, y=—81

2 13x+Ty=—-3 - @
1=3, y=—6 12O DEFHD 1 >TH2,
EoT 13-347(—6)=—3 - @
D—-0 e 13x—3)+7y+6)=0
Tt 1Yx—3)=—-Ty+6) - @

132 TREVEETHSEMD, x—3137 0K
TH 5,
LT, REERE LT, 1—3=Tk LEENE,
“he@nb  y+6=-13%
Lo, R DB

1=Th+3. y=—13k—6 (k12850

FE QoEEfEol-o:LTY, r=—4, y=T%

BT v, 05, BEET

x=Tk—4, y=-—13k+7 (RITER
rEREND,






